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Practice Test

Part | Listening Comprehension(20 minutes)

Section A: Spot Dictation

Directions: In this section, you will hear a passage of about
120 words three times. The passage is printed on your Answer
Sheet with about 50 words missing. First, you will hear the whole
passage from the beginning to the end just to get a general idea
of it. Then, in the second reading, you will hear a signal indicating
the beginning of a pause after each sentence, sometimes two
sentences or just part of a sentence. During the pause, you must
write down the missing words you have just heard in the corre-
sponding space on the Answer Sheet. There is also a different
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signal indicating the end of the pause. When you hear this signat,
you must get ready for what comes next from the recording. You
can check what you have written when the passage is read to you
once again without the pause.

The life-saving value of safety belts has been firmly established by many
studies. (D resulting from even minor accidents are caused by people
@  the interior of the vehicle. ()  that 40 percent of those killed in
auto accidents would have been saved @ .
Safety belts _ & on all automobiles sold __ ® . Since long before
that, @  have been advocating that motor vehicle drivers and passengers
make it a habit to use safety belts whether . _ ®  worth of public

service advertising has been donated @0  — to remind motorists and passen-
gers to “buckle-up.”

Section B: Compound Dictation

Directions: In this section, you will hear a passage three
times. During the first reading, you should listen carefully for a
general idea of the whole passage. Then listen to the passage
again. When the first part of the passage is being read, you should
fill in the missing word during the pause at each blank. After
listening to the second part of the passage you are required to
write down the main points according to what you have just
heard. Finally, when the passage is read the third time you can
check what you have written.

The Relationship between a Teacher and a Student

The between a teacher and a student can be good or bad,
helpful or - Either way,the relationship can the student for the
rest of his life. A good teacher-student relationship will make the teacher’s job
. A bad relationship can the student from and make
teaching an task.

In order to have a good teacher-student relationship, respect between
teacher and student is very important.
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The teacher should motivate the student, too, so that he wants to learn.

As for the student,

In conclusion, a good teacher-student relationship can be beneficial mutual-
ly. The student gains eagerly and enjoyably knowledge, and the teacher gains
from his job satisfaction.

Part [ Reading Comprehension(35 minutes)

Directions: There are 4 reading passages in this part. Fach
passage is followed by some questions or unfinished statements.
For each of them there are four choices marked A),B),C),and
D), You should decide on the best choice and mark the corre-

sponding letter on the Answer Sheet with a single line through the
center.

Questions 11 to 15 are based on the following passage.

In today’s world, insurance plays a vital role in the economic and social
welfare of the entire population. The wish to guard against dangers to life and
property is basic to human nature. By using various kinds of insurance, society
has been able to reduce the effects of such hazards.

Nowhere is insurance more important than in the management of a busi-
ness. In many instances, losses in a small firm can mean the difference between
growth and failure, vitality and stagnation. Very few small businesses have even
a portion of the financial resources available to larger enterprise. 1. Frequently,
they must operate on a very slight margin i they hope to stay in business. And
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thus, they are particularly susceptible to unexpected losses.

Without enough insurance, what happens to such a firm when the owner
dies or is suddenly incapacitated? When a fire breaks out and destroys the firm’s
building or stock? When an employee is found to have stolen company funds?
When a customer is awarded a liability judgement for an accident? Too often, the
business is forced to the wall, its future operations drastically curbed ; sometimes,,
it is damaged beyond repair, its ability to continue completely crushed.

Almost always,a small businessman would find it impossible to handle the
full burden of his potential risk. The amount of money he would have to set
aside to cover possible losses would leave him nothing, or almost nothing, to run
his business with. 2. If loss were to occur which he could remedy by using his
reserve fund, what assurance would he have that another loss — the same kind
or different — might not occur next week, next month?

But then he would have no reserve fund — and little likelihood of staying
in business at all.

11. This passage deals mainly with
A) the relation between insurance and society
B) accidents and losses
C) business failures
D) the importance of insurance to business
12. Which of the following statements is TRUE according to the passage?
A) Small businesses have a large portion of the financial resources available
to larger enterprise.
B) Small businesses are vulnerable to unexpected losses.
C) Small businesses are easily to get large profits to stay in business.
D) Large enterprises have made constant progress and prosperity .
13. In paragraph 3, “forced to the wall” means .
A) driven to despair B) doing well
C) staying in a strong position D) climbing up
14. The author thinks that
A) sccidents always happen
B) a businessman should take risks
C) businesses should have adequate insurance
D) insurance is a social welfare project
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15. Adequate insurance will do all of the following except that it will

A) free some business funds

B) add to benefits for employees

-C) relieve some management problems
D) provide for unexpected incidents

Questions 16 to 20 are based on the following passage:

The first trade unions were associations of wage-eamers for the purpose of
improving the conditions of their working lives. The first British trade unions
were formed more than a century and a half ago,and the conditions of the work-
ers have improved greatly since then.

In order to provide a home, food and clothing for himself and his family,
every worker needs a job at a reasonable wage. He joins a trade union because
the trade union helps him. An important duty of the trade unions is to help their
members when they are unable to work because of illness, or accidents at work,
and when they become too old to continue working. 3. In the early days of the
trade union movement, before the State provided health and unemployment insur-
ance and old age pensions, this kind of help was much more important than it is
today .

Every member of a trade union pays a small sum of money each week,
called his subscripion. This covers the cost of organizing the union, and pro-
vides the fund to help the members. From this find members also receive help if
they ‘go-on stnke against their employers,or are locked out by them.

16. What is the main topic of the passage'7
A) British trade union.
B) The trade union member
C) The duty of the trade union
D) Establishment of the trade union
17. Since the establishment of the trade union _ o
A) workers have had high wages
B) workers’ conditions have been improved -
C) workers have had good health - S
- D) workers have gone:on strike against their employers
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18. It can be leaned from the passage that
A) trade unions will only help those who are sick or have accidents at work
B) trade unions have made everyone have a job with a reasonable wage
C) the help that trade unions offer is more important now than in the past
D) the state did not provide workers with health and unemployment insur-

ance many years ago
19. The word “subscription” (para.3) stands for
A) honorary membership
B) the rank and file membership
C) membership dues
D) a membership committee
20. The trade union will cover its cost with the money
A) from the state government B) from employers
C) from its members D) from a special fund

Questions 21 to 25 are based on the following passage :

For centuries men dreamed of achieving vertical flight. In 400 A. D.
Chinese children played with a fan-like toy that spun upwards and fell back to
earth as rotation ceased. Leonardo da Vinci conceived the first mechanical appa-
ratus, called a “Helix”, which could carry a man straight up, but this was only a
design and was never tested.

The ancient-dream was finally realized in 1940 when a Russian engineer
piloted a strange looking craft of steel tubing with a rotating fan on top. It rose
awkwardly and vertically into the air from a standing start, hovered a few feet
above the ground, went sideways and backwards, and then settled back to earth.
That vehicle was called a helicopter.

Imaginations were fired. Men dreamed of going to work in their own per-
sonal helicopter. People anticipated that vertical flight transports would carry
millions of passengers as do the airliners of today. Such fantastic expectations
were not fulfilled.

4. The helicopter has now become an extremely useful machine. It excels
in military missions, carrying troops, guns and strategic instruments where other
aircraft cannot go. Corporations use them as aitborne offices, many metropolitan
areas use them in police work, construction and logging companies employ them
in various advantageous ways, engineers use them for site selection and
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surveying,and oil companies use them as the best way to make off-shore and
remote work stations accessible to erews and supplies. Any urgent mission to a
hard-to-get-to place is a likely task for a helicopter. Among their other multitude
of uses: deliver people across town, fly to and from airports, assist in rescue
work, and aid in the search for missing or wanted persons.

21. People expect that
A) the airliners of today would eventually be replaced by helicopters
B) helicopters would someday be able to transport large number of people
from place to place as airliners are now doing
C) their imaginations fired by the Russian engineer’s invention -would
become a reality in the future
D) their fantastic expectations about helicopters could be fulfilled by airlin-
ers of today
22. Helicopters work with the aid of .
A) a combination of rotating devices in front and on top
B) a rotating device topside :
C) one rotating fan in the centre of the aircraft and others at each end
D) a rotating fan undemeath for lifting
23. What is said about the development of the helicopter?
A) Helicopters have enly been worked on by man since 1940.
B) Chinese children were the first to achieve flights in helicopters. -
C) Helicopters were considered more dangerous than the early airplanes.
"D) Some people thought they would become w1dely used by average
. individuals.
24. How has the use of helicopters developed'7
- A) They have been widely used for various purposes.
B) They are taking the place of high-flying jets.
C) They are used for rescue work. .
D) They are now used exclusively for commercial projects.
25. Under what conditions are helicopters found to be absolmely essential?
A) For overseas passenger transportation.
B) For extremely high altitude flights.
-.C) For high-speed transportation. - . ° ‘ ’
D) Forurgemmxssmntoplaoemaccmsrbletootherkudsofcmft
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Questions 26 to 30 are based on the following passage :

Americans are people obsessed (F 2% T ) with child-rearing. In their
books , magazines, talk shows, parent training courses, White House conferences,
and chats over the back fence, they endlessly debate the best ways to raise chil-
dren. Moreover, Americans do more than debate their theories; they translate
them into action. They erect playgrounds for the youngsters’ pleasure, equip
large schools for their education, and train skilled specialists for their welfare.
Whole industries in Ameriea are devoted to making children happy, healthy and
wise.

But this interest in childhood is relatively new. In fact, until very recently
people considered childhood just a brief, unimportant prelude{ HiZE# ) to adult-
hood and the real business of living. By and large they either ignored children,
beat them, or petted them carelessly, much as we would amuse ourselves with
little cats and dogs. When they gave serious thought to children at all, people
either conceived of them as miniature adults or as peculiar, unformed animals.

Down through the ages the experiences of childhood have been as varied as
its duration. . Actions that would have provoked a beating in one era bring about
extra loving care in another. Babies who have been nurtured( % &) exclusively
by their mothers in one epoch are left with day-care workers in another. In some
places children have been trained to stand on small unsteady boats, get over dan-
gerous mountain passes, and canry heavy bundles on their heads. In other places
they have been taught complicated piano lessons and long multiplication tables.

5. But diverse as it has been, childhood has one common experience at its
core and that is the social aspect of nurture. All children need-adults to bring
them up. Because human young take so long to become independent, we think
that civilization may have grown up around the need 1o feed and protect them.
Certainly , from the earliest days of man, adults have made provision for the chil-
dren in their midst.

26. The present-day American obsession with child-rearing has .
A) resulted in ineffectual action  B) initiated pointless discussions
C) had wide-ranging results D) produced endless theories
27. Children in the past were ill-treated or petted because they were

v
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A) ignorant of adult life
B) seen as uninteresting
C)considered of no importance
D) conceived of as having animal natures
28. How have childhood experiences varied?
A) Children have been alternately beaten and loved through the ages.
B) There have been differences in child-rearing in different epochs.
C) Parents have increasingly taken control of their children’s nurturing.

D) Insome places physical training has given way to encouraging creativity .

29. According to the author, children
A) need intensive adult nurturing
B) are the drive of civilization
C) remain physically dependent until adulthood
D) have common social experiences .
30. What is the author’s attitude to developments in the perception of child-
hood?
A) Cynical (¥ B BiRK) B) Indifferent
C) Positive D) Neutral

Translation from English into Chinese (15 minutes)

Directions: In this part, there are five items which you should
translate into Chinese, each item consisting of one or two sen-
tences. These sentences are all taken from the reading passages
you have just read in the Third Part of the Test Paper. You are al-
lowed 15 minutes to do the translation. You can refer back to the
passages so as to identify their meanings in the context.

1. (Para.2,Passage 1)

Frequently, they must operate on a very slight margin if they hope to stay in

business. And thus, they are particularly susceptible to unexpected losses.

2. (Para. 4,Passage 1)

If Joss were to occur which he could remedy by using his reserve fund, what
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assurance would he have that another loss — the same kind or different —
might not occur next week , next month?

3. (Para. 2, Passage 2)

In the early days of the trade union movement, before the State provided
health and unemployment insurance and old age pensions, this kind of help was
much more important than it is today.

4. (Para. 4, Passage 3)

The helicopter has now become an extremely useful machine. Jt excels in
military missions, carrying troops, guns and strategic instrurnents where other air-
craft cannot go.

5. (Para. 4,Passage 4)
But diverse as it has been, childhood has one common experience at its
core and that is the social aspect of nurture.

Part ' Vocabulary and Structure(20 minutes)

Directions: There are 30 incomplete sentences in this part. For
each sentence there are four choices marked A),B),C) and D).
Choose the ONE answer that best completes the sentence. Then
mark the corresponding letter on the Answer Sheet with a single
line through the centre.

31. Now that you ,what are you going to do?
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32.

33.

3.

37.

39.

41.

42.

A) have returned B) are retumning

C) retumn D) returned

Factories are supplied with machines.

A) a great deal of B) vast amounts of

C) a large amount of D) plenty of

The management to improve the working conditions of the factory.

A)setup  B) setoff C)setabout D) set out

. At this time last year, 1 was at my dissertation on the history of

development of national economy.
A) driving B) forging C) laboring D) thriving

The director was about Mary’s acting ability and he hesitated
about assigning the leading rolg: | 0 her. A
A) nervous B) amxious biful - ~'D) wspnmow]

. The police stopped him becaua‘t:ii&' thetmﬂicregu]ann.

A) damaged B)de;tmyn‘{ﬁxmlm’bd D) corrupted
1 appreciated the

A) having given B) havxbg been given
C) to have been given \W’F"'ﬂ héve gven &
.Eveniftheyareonsale,tlmx equalmp@eﬂ) ,

if not more expensive than, a@thepl(nex’sls:oﬂ‘e}g o
A) the ones  B) the othelwx«:C) that.. D) anyone
Alone in deserted house, he was so busy with his research work that he felt

lonely.
A) nothing but B) anything but
C) all but D) everything but
. Jefferson was a person-who would what he thought right,no matter
what the cost to himself .
A) look up to B) live up to
C) stand up for D) stand up to
Everything needs . To me the motto is; Never give up.
A) constancy B) consistency
C) insistence D) persistence
Our modern civilization must not be thought of as in a short period

of time. o
A) being created B)to have been created



